=
o
&

T

1/od?/ dp™dm™M1/Gevd
|_\
o

1077

[EEY

Ratio to ATLAS

0.5

13000 GeV pp tt
T I T I T I T I T | T I I T I T I | g
B top o
p (ATLAS semileptonic ttbar) 2
p=
~ ™~
- — N
L =1 Al
- i)
!
B —
o e
©
=
B e
- Je
™
B <t
— ™
(o]
— 1O
(9]
o
B —.2
ATLAS >£
--O-- Herwig++ 2.7.1 default =
—  --83-- Herwig 7.2.1 default 5 ==
—  —¥— Herwig 7.2.1 softTune s 19
B 18
n 1g
| | | | | | | | | | | E
! ' ! ! ' ! ' ! ! ' =
- 32
] 1
B —0.5
| . I . I . I . I I . I . I . I . |
0 50 oar 1000
pthad [GeV], m '} in [700,1000] [GeV]



	Contents
	Page 1


